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Show your work! No calculators! Please draw a around your answers!

Please do not write on your desk!

1. (3 x 2 =06 pts.) Evaluate the limit, if it exists. Give reasoning.
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2. (8 x 1 =8 pts.) Determine whether the given statement is true or false.

Indicate your answers by typing TRUE or FALSE. No explanations required.

(a) If lim f(z) = oo and lim g(z) = oo, then lim(f(x) — g(x)) = 0.

Tr—a Tr—a Tr—a
FALSE
(b) If lim f(z)g(z) exists then lim f(x)g(x) = f(a)g(a).
Tr—a Tr—a
CALSE
(c) If f is continuous at a then it is differentiable at a.
FALsT
(d) If f is differentiable at a then it has a limit at a.
T Ruc
(e) If f is continuous at 5 and f(5) = 2 and f(2) = 3 then liI% f(42® —11) = 2.
z—
ToLuE
(f) An equation of the tangent line to the curve y = x? at the point (1,1) is
y—1=2z(x—1). _
FALSE
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3. (a) (4 pts.) Show that (1) = 6 if f(z) = 32> + 1, using the limit definition of the

derivative only. (Note : Any other methods will not receive any credit.)
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(b) (2 pts.) Write the equation of the tangent line to the graph of f(z) = 32® + 1 at the
point (1,4).

3—-(4 = 6 (x=1) , o E.G\lu'\\/o:\{/v\'b F\rzj: 6x - ?_‘\
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